
Retractable Locating Pin   Spare Parts List SZK 30.7 BR2  
 
---- 

Subject to technical modifications. 24.06.2016 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

Spare Parts     

Pos. Part no. Quantity Description Type Flag
1
 

1_10 361437 1 housing SZK 30.7 BR2  

1_20 361444 1 piston rod SZK 30.7 BR2  

1_30 361456 1 guide bush SZK 30.7 BR2 R 

1_40 361467 1 guide bush SZK 30.7 BR2  

1_50 361468 1 guide bush SZK 30.7 BR2  

1_60 361455 1 piston SZK 30.7 BR2 R 

1_70 361445 1 cylinder bottom SZK 30.7 BR2  

1_80 248229 1 scraper SZK.1 40-63 RD 

1_90 219662 1 rod seal PR Ø 12/Ø19x2,3 RD 

1_100 219661 1 piston seal Ø30/Ø21x2,5 RD 

1_110 201700 1 o-ring Ø20 x 2 RD 

1_120 201732 1 o-ring Ø30 x 1,5 RD 

1_130 201767 1 o-ring Ø40 x 1,5 RD 

1_150 224010 1 set screw M5 x 5  DIN 914  

1_160 363581 2 set screw M5 x 12  DIN 915  

1_170 361488 1 parallel pin 5m6 x 16  ISO 2338  

1_180 200455 4 hex. socket head cap screw M4 x 16  DIN 7984  

1_190 200974 4 securing spring washer S 4  

1_200_70 200453 2 hex. socket head cap screw M4 x 8  DIN 7984  

1_200_80 200974 2 securing spring washer S 4  

    spare parts sets / accessories   

      
Pos. Part no. Quantity Description Type  

 461028 1 repair kit SZK 30.7 BR2  

 461031 1 seal kit SZK 30.7 BR2  

1_200 358828 1 limit switch set complete SZK 30.7 BR2 T12  
 

1
 R = included with repair kit, D = included with seal kit 

 

 



Retractable Locating Pin   Spare Parts Drawing SZK 30.7 BR2  
 
---- 

Subject to technical modifications. 24.06.2016 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

 


